
Packet Size = 1356 bytes
Packet Interval = 70 msec
Total Time = 7.1 seconds
Data Rate = 153 Kbps

Packet Size = 512 bytes
Packet Interval = 70 msec
Total Time = 7.0 seconds
Data Rate = 58.5 Kbps



Packet Size = 1356 bytes
Packet Interval = 20 msec
Total Time = 5.4 seconds
Data Rate = 200.9 Kbps

Packet Size = 512 bytes
Packet Interval = 20 msec
Total Time = 5.4 seconds
Data Rate = 75.8 Kbps



Packet Size = 1356 bytes
Packet Interval = 0 msec
Total Time = 4.9 seconds
Data Rate = 221.4 Kbps

Packet Size = 512 bytes
Packet Interval = 0 msec
Total Time = 4.9 seconds
Data Rate = 83.5 Kbps




